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1. Name the blood vesse! that supply: %QQ}
(a) The heart with nutrients. @@\Q (Imk)
R
.............................................. (G
(b) The foetus with oxygen Qe\j‘— (Imk)
K&
2. Explain why it isimportant to stai¥\ specimen to be observed under alight microscope. (2mks)
o
............................. 2 s
............................ LSS
N Q&
3. What iswilting? Q%Q (2mks)
............... o
il
.......... Q/
4. State te'significance of the following steps while testing for discharge in food sample. (2mks)
ég}’d%\ddition of dilute hydrochloric acid
V@QJ .....................................................................................................................................
(b) Addition of sodium bicarbonate.
&
5. a) (i) Name thefluid produced by sebaceous gland. (1mk)
(ii) State two function of the fluid name din 5 a) (i) above. (2mks)
b) Explain malpigtian layer of the skin is adapted to perform its function. (1mk)

6. A certain animal had onecell fromitsalimentary cana observed under light microscope. A total of 40
chromosomes were seen.

(a) State the number of chromosomesin

(i) The spermatozoon of this animal (2 mk)
(ii) One of cellsin the tongue. (Imk)
(b) Name a structure in mature plant where meosis takes place. (1mk)

7. A biological washing detergent contain enzymes which remove stain like mucus and oil from clothes
which are soaked in water with the detergent.
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(a) Explain why stain would be removed faster wit%@etergent in water at 35°C rather than 50°C (1mk)
......................................................... S e
>
................................................... e,
%
o
ol
Q
(b) Why is bailing clothes with\é@gﬁéergent lesslikely to remove stain. (Imk)
................................. R R
............................... L TP
\
(c) Name an enzyme\ that catalyses the decomposition of sodium hydrogen carbonate to facilitate
transportati ()Qﬁ carbon (1V) Oxide. (1mk)
............... PP
il
......... @
8. FormZstudents from samba secondary school set up an experiment as shown below.
4
&°
s ,
&
i B End of experiment
a) Explain the change observed at the end of the experiment. (2mks)
b) Explain what would happen if water has been used instead of potassium hydroxide (2mks)
9. State two advantages of metamorphosis to the life cycle of insects. (2mks)
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10. The concentration of lactic acid in blood during and (g%er an exercise was determined. The results
Q

X
,bfo
Q

are shown in the graph below.

<

H

2

Ty
e,

o e o S N R

&0

- s gt
- NEEEFEEN

: :Ll][
g

[

T
|

e

Lydd

T
Nus s .

P

1
.|
|

=

T

T
i

T S|

40

—_———i

1 '
- -

,:II__T__I!_
=

-
:-._Il_lkII

R

e e T N
i i

e
LT
|

—
—

N

ST
HE

o TRl

L -
1

i il et

[}
|

H

-

100 |~

Time in minutes

(1mk)

(@ (i) By how much did the lactin acid increase a the end of 10 minutes?

( 2mks)

3

(i) After how many minutes was the lactin acid concentration 78mg/100cm

(1mk)

(iii) What would be the concentration of lactin acid at the 60™ minutes.

(1mk)

(b) Giveareason for the high rate of production of lactic acid during the exercise.

(2mks)

11. Name the part of human brain that perform the following function

(a) Controls peristalsis

Biology 1
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(b) Control intelligence (OQQJ
Q
......................................................... %..........................................................................
o
................................................... e,
&
12. Outline the differences between darwinée\,fheory and Lamendi’s theory of evolution (2mks)
K&

................................. B R
13. Givethree functions of cx\stbki nin hormonein plant (3mks)

........................... 2

o
..................... E PP
Q

.............. @fﬂ\
14. Explain wﬁ/ plants do not require specialized excretory organ. (3mks)

..... et

2

QO
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(@) ldentify the bone @QQ}

optic nerva

&

21. The diagram below shows a simplified nitrogen cycle.

Nitrogen in Atmosphere

H Ammonia
Animals —

Nitriate \

G

~— Kk Nitrite
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(@) Name the process represented by %QQ}
P e EN
3
K oo, R,
W©
Ho G

................... Q}@

22. (a) Explain how é@ﬁnmalian tracheais adapted to its function
........... o TP TP PPRN

Q‘a‘%
..... Q/
(b e the gases exchange site in bony fish.
2

QR s
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